Differentiation: Implicit Functions
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[image: image1.png]1. Acurve Cis described by the equation
304 2x_3y+5=0.
Find an equation of the nommal to C at the point (0, 1), giving your answer in the form

v+ by -+ c =0, where a, b and ¢ are infegers.
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[image: image2.png]A curve is described by the equation
Pty =2y

() Find the coordinates of the two points on the curve where x =S,
e

(b) Find the gradient of the curve at each of these poiats.
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[image: image3.png]A curve has equation 3+* — )* + xy = 4. The points P and Q lie on the curve. The gradient
of the tangent to the curve is § at Pand at
() Use implicit differentiation to show that y—2x = 0 at P and at 0.

©

(b) Find the coordinates of P and Q.
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[image: image4.png]1. Acurve Chas the equation ° ~ 3y =1+ 8.

@ rm% in terms of xand y.

(b) Hence find the gradient of C at the point where y = 3.
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[image: image5.png]4. The curve C has the equation ye = 2x+)?.

@ in terms of x and y.
& [}
‘The point P on C has coordinates (0, 1).

(@) Find

(b) Find the equation of the nommal to C at P, giving your answer in the fom
@+ by+c=0, where a b and ¢ are integers.
@




